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Solve the following double digit multiplier

1.456 x 23 =

2.789x56 =

3.623 x41 =

4.895 x 34 =

5.341x67 =

6.572x18 =

7.936x 25 =

8.428 x 89 =

AA

problems
9.719x52 = <
10.567 x 76 = )
11.892x 43 =
12.623x91 =
4
1By =
14.689 x 39 = @
15.431 x84 = |
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Solve the following double digit divider
problems
1.456 + 12 = 9.819+39= <
1
2.789 + 23 = (OS5 e N
3,672+ 16— 11.852 + 28 =
4.810 < 30 = 12. 648 +24 =
4
5.324 +27 = IS5
6.588 + 14 = 14.689 + 37 = 4
7.936 = 18 = 15.432 + 18 = 4
1
8.392+-14 = eot Ty,
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